

1.

$$\frac{3x^5 - 3x^2 + 2x - 5}{x^3 - x + 1}$$

$$\begin{array}{r} (3x^5 \quad -3x^2 + 2x - 5) : (x^3 - x + 1) = 3x^2 + 3 \\ -3x^5 \quad +3x^3 \quad -3x^2 \\ \hline \quad 3x^3 \quad -6x^2 + 2x - 5 \\ -3x^3 \quad \quad +3x - 3 \\ \hline \quad \quad -6x^2 + 5x - 8 \end{array}$$

$$\frac{3x^5 - 3x^2 + 2x - 5}{x^3 - x + 1} = 3x^2 + 3 + \frac{-6x^2 + 5x - 8}{x^3 - x + 1}$$

2.

$$\frac{9x^3 - 4x + 1}{x^4 - x^2} = \frac{9x^3 - 4x + 1}{x^2(x+1)(x-1)} = \frac{A}{x} + \frac{B}{x^2} + \frac{C}{x+1} + \frac{D}{x-1}$$

$$9x^3 - 4x + 1 = Ax(x+1)(x-1) + B(x+1)(x-1) + Cx^2(x-1) + Dx^2(x+1)$$

$$9x^3 - 4x + 1 = A(x^3 - x) + B(x^2 - 1) + C(x^3 - x^2) + D(x^3 + x^2)$$

$$x^3: 9 = A + C + D \tag{1}$$

$$x^2: 0 = B - C + D \tag{2}$$

$$x: -4 = -A \Rightarrow A = 4 \tag{3}$$

$$x^0: 1 = -B \Rightarrow B = -1 \tag{4}$$

$$(1): 5 = C + D$$

$$(2): 1 = -C + D$$

$$(1) + (2): 6 = 2D \Rightarrow D = 3$$

$$(1): C = 5 - D \Rightarrow C = 2$$

$$\frac{9x^3 - 4x + 1}{x^4 - x^2} = \frac{4}{x} - \frac{1}{x^2} + \frac{2}{x+1} + \frac{3}{x-1}$$